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B. Sc. B. Ed. (First Semester) Examination, Dec. 2023

CHEMISTRY
(Elective-II)
Paper : First

Time Allowed : Tjtree hours
Maximum Marks : 60
AT : Gt AT G@vSl F FvT [AEIHAR FE FHT FT
favrsT @vst @ arer fear s @1 &1

Note: Attempt questions of all two sections as directed.
Distribution of marks is given with sections.
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Note: Attempt all the questions. Each question carrieg

] mark.
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Choose the correct answer
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() {P+ VE](V—-nb)=nRT
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(b) P+

-

2
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](V—nb)=nRT

(c) P+%}(Vz—nb)=n}i’?‘

. an 2\
Vandcr Waals equation of state is :

(a) [P+§—':](V —nb)=nRT
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b [P+ 3 :[(V——nb}:nRT

(© [P-{-—;—’:](Vz—nb):nRT
@) [P+‘;,—n](V—nbz)=nRT

frafafaa 4 @ s *Eks T=@ —
(@ 3

b =
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@ Ifen faes

Which is not a colloid :

(@) Mik

(b) Blood

(c) - Ice cream

(d) Urea solution

1-5120

https://www.rdvvonline.com

(v)

F1 FH EM—

(a)
(M
()

(d)
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6. 0. 0. +2
5.0.0. +2

5.1.0. +%

[ 41

#;ﬂa;arﬂm#@nsﬁ*%

The correct sequence of the set of ‘all quantyy,

numbers of Rubidium (Z =37) is :

(a)
(b)
©)
(d)

5, 1,1, +%4
6,0, 0, +%

50,0, +%
51,0, +'2
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For which orbital picture Pasli’s exclusion principle (@) 2
and Hund’s rule both are related : )
+ it it 11
(a) © 3
, 1 1 {1
®) @ s

© |V 1 1 |1
(d) 1 T T |

To get n type semiconductor from silicon, it 1s

doped with element whichrhas ... valancy :
() frafafaa ¥ 4 599 8 : 8 w=a S 9rf (a) 2
it §— ®) 1
(a) CsCl © 3
(b) MgO ) @ 5
(c) ALQO, .
. . . fogragEr aEdeE wieis 1 9¢d 99 %
(d)y 3S9w® a+l . .
¥ Gl F *9 G s e—
In which 8 : 8 coordination number is found : !
(@ N,”<N,"<N,
(@) CsCl
(b) MgO (b) N, <N, <N,
. (C) Alzos (c) NE_ < sz' < Nz

(d) All of the above

d) N, <N, <N,*
v) TR R SR T S W T ¥ R @ Mo <le<
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. {d) Triangular pyramidal

171
which is the correct sequence of bond order for
Nitrogen species according to MO theory :

(@) N,”” <N,” <N,

(by N,< N, <N,-
() N, < sz" <N,
(d) N, <N,< N,*

VSEPR faga & 31gaR NH, 3] & saifufq
Bt —

(a) Yaw

b FrErf GifEE

(c) ST

d) F=nia fafEE

According to VSEPR theory the geothetry of NH,
moleculeis : . o

(a) Linear

(b) Triangular bipyramidal

(c) Tetrahedral
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(x)

|81
ﬁﬂﬁﬂaﬂqmﬁwmﬁmﬁtm
faaew Tutm ®—

(a) faodata | wdidA
(b) FREE a TEeA
() Tflew ufws a 5@
(d) wEfE 3 e

Which mixture shows positive deviation from
Raoult’s law :

(a) Methanol and Acetone

(b) Chloroform and Acetone

(c) Nitric acid and Water

(d) Phenol and Aniline

o Ay faoga & fau od €i—

(a) AH =0

mixirg

(b) AH >1

moLTE

(c) AV, =0

LA

dy P, =P X,
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Condition for an ideal solution i -

(a) Af{mlr!ng =0

(b) AH

micing > 1

(c) A V"mm, #=0

@ ~£=FX,

m__l ' L]
Section-‘B’

(og Iula u=w) 5= 10=50
(Short Answer Type Questioas)

Az : @t gfa 3 F IR DT vEw T D
s TVT A At 1 g=&w 5 10 FHl
@7 &1

Note : Attempt all five questions. One question
from each unit is compulsory. Each question

carries 10 marks.
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2.

| 10 |

- gETE-1

Unit-1
e i A aTed g rEER @ faaeR % wRm
maﬂﬁq}

Clarify the causes of deviation in real gases from ideal
gas behaviour. ’

T
Or
T W 1§ 2 3qrew dfga afiea wifaq)

What is liquid crystal? Classify it with example.

gant3-11
Unit-II
dft feooit fafae—
() sfese at gHsw
() frmef aAffraam = fag<
Write short note on :

(3 Schordinger wave equation
(ii) Heisenberg uncertainty principle

Haar
Or
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=rm
arga €7
What do you understand by atomic radii and jop;
I..? iome

i) ST S

(iv) Taera =it

(v) SFA T IO
Define it :

(i) Space lattice
(i) Unit cell

I-5120

https://www.rdvvonline.com

(12 ]
(iii) Lattice energy

(iv) Solvation encrgy
(v) Polarisibility of ions
Srerar
Or

3 H e O 41 e ¥ 2 9% 9 & fa%gR |
AR |

What is lattice defect in solid? Describe its types in
detail.

FEHE-IV
Unit-IV

5. = orvedl § deto F R 9 s saifufa e

Hfa—
CH,, BeF,, PCI, BF,

Explain the type of hybridization and their geometry in
the following stolecules : -

CH,, BeF,, PCL, BF,
.

Or
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Explain it :
@) Optical activity
(i) Clausius Mossotti equation
argaT
Or
U] dEaE OIHH F 2 SUE I # ofonfe
Ffow | THaE? TaE SR F T e T 2

What are colligative properties? Define Osmotic

pressure. Explain how osmotic pressure is 2 colligative
property?
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